opYINp
ortex

7IwYR MY 0N

3¢ P

e 12T —

2303

f .
{
qoin
. 1
:napnn :MON NN

7Y MInT q7

D’O12D
ooiph T

NT DY

noYonN - NIr IVIXPDDY VT

:12a0 QUIn

+2

TIN N9PINI 2'IN2 VAN DYV NN
m7a nx) 10 :;pna anyTIn
(TNX 1IN'7 N1VNRN 2'Ya 'R

7w Y 2NN NIF DX
.NINY AN
10 :pna

10

12AN NANIYI 2'IN] NYAID NN
(9" 5awn) o''n nid
15:m

w 10

.0'0I'0 N777 2N NN7IYW DX
nnmn n1vna + 20 ;pn
TNN N

16! qan// ,
> /

20

NTIA7 20N 3 NANWN NX
191010 .NIXTYT? N71D' NNY
NN A1'0Y7 niaant +2

J'I'ITJ'T"I mny

30

NTY NN NDVIY NR'DFN N2'WN
0'9'0in N1 11) 17N
[(Inx 21207 w'anTh +1

oauxn 0% 15 jpm

1T A'IN NAIN NIX TWND
nozna +2 goina
N2 INY

21272 wTnNn "72'72
JNNaY TN

YL 1912 220 NN7IY NX
.D2'IN] NYAIDY NIANY
aon D715 an

T]IFI\L) nmounn NX N2'NN NN
.MM NN 13N TR DX

10 :axvnn 20 :pn2




opup D’DI12D,
LL2: DOIpaTE

.1 WN YN T

2
<
2
&
s
s
4
Z
=
-
-
c
=
-

q ~— )

) \‘\\\\\\\\. =

' :0'pwa

» 17'7nIn2 Ty
:quin f/// :uMan ov

(PN

:"n
o]
1'"n
N AN




